a4 [®p.17
31 [EHSBOATOFE2] 922—92+2 % (ax+b)(cx+d) DHICHK
TRTHELBEZL, TIZT, a cl3BRE b, dI3ERTHA,
(1) 9x°—9x+2=acx*+(ad+bc)x+bd THAEH 5, ac=9, bd=2 Th 5.
ChbZjilzta b ¢, dOMETTRD L,
2 (1) Tkodiza, b ¢, dDHOFT, ad+bc=—9 Zii§7=5 a, b, ¢, d
O %2 TRTRD &,
(3) 9x*—9x+2 % WEMEE X
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TOBWIZEZ L.
(1) KOBEFOHTHRIMEI4ELELDEZTRTEDTF, 5TEZ L.

O y=x>+4 @ y=—x+4 @ y=2(x—1)7>*+4
@ y=—%x2—2x+8 ® y=—x+2ax—a*+4 (al3ER)

(2) B y=2x+3x+212BWVT, —2<x<qllBUAHIMEI4LLS L
IR EBaDEOFEEZRD L, 7270, qlda>—2%i/-T EHET 5,
3) M y=ax’—4ax+2a*+a+2 (@ 3EH) 1220V T, ROMWIZER X,
O WKREF4E25E) 0 ERaDEERD X,
@ 0=x=3IZBUIaRKAEIF4LELEI L ER aDiZRkD L, 72
ZL, al0ThwENHET A,
® —1=x=aqllBTE2EANEM%a%HwTERYE, 272L, ald
a>—1, ax0%i7-TERTHS.





